(681{9)(151{ b i

(6 8 k2 + 15 kQ)

680 + (4 68 kQ/ISO)

branch of the circuit. Then:

PROBLEMS 135

= _3’.4 mA usiﬁg eqliation 5 ; 16

The collectmwemmer Voltage IS obtamed by applymg KVL to the collector= enfutter

V =10 V- (34 mA)(680 Q+1.8kQ)=156V

fff%s‘? PROBLEMS

& 1 For the base-bias circuit shown assume
;that ﬁ 150 and VHE =0.7 V and determine

Icﬁﬁd VCE
" [36mA 5.5 V]
12V

oo

- . 470 kQ b ] 1.3 kQ

5:2 Repeat Problem 5.1 for ,B 350 and Ve

comment on the result.

5.3 Determme I~ and VCE for the cucmt
showmfﬁ-* 120 and VBE--O’? L ST

[22mA 3.47 V]
9V

T

B X717 7o T I R 151{Q o

5.4 Determine a suitable value for Ry to

provide a Vg of 5V for the circuit shown if
f=180and } Veg=07V. -

| [560 kQ]

BB Determine I, and Vg for the circuit
o shownlfﬁ 200 and VBE-—07 V

[64mA 34V1
| 24V |

K o

L




.........
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| 5 9 For the circuit shown f = 120 and |
Vee=3 Vif B varies from 80 to 240. Ve =0.7 V. Verify that the collector current i 13

' 1.1 mA and determine the value of Ry which i 1s

Assume that V E_O 7 V |
- [1 65 k] | - ;e?;fed to prov1de a collector current of

5.6 Determine the value of R to ensure that

ke s

27 kQ

osex@ | |

- |
b ,

- T skl |1k

. 5.. 7 Detemﬁne the change .in" Ver 1f B varies | | - T
from 120 to 420. Assame that Vg =0.7 v. | S e

[4. 72 Vt03 76 V]

IOV _— . = | | | '
- '. o S -3 19 Deslgn abase potentlal d1V1der bias

moxo | | 1 22kQ - circuit to provide a collector current of 3 mA

Y L . froma supply of 12 V for an npn transistor -

) V[ L -where the mmimum and maximum values of ﬁ -
— kﬁ Vee - are specified as 120 and 320 respectively.

Rt

5 E R | Dete:nnme Values for R;, R,, Ry ﬂﬂd Rc

- l | . | 1 - e B | Jiﬂﬁi
el e (030, 57KQ,400Q,16kQ]

Sty
Py — tra—— [ inp———
L]

5.8 Select a smtable value for R to prowde a | 5.1 1 Determme Ioand Vg if ﬁ 200 and
collector current Of 2 mA if ﬁ 150 and VBE =0.7 v for the collector-b1as circuit

VBE-O'?V A LT shown o
[1018 Q] . [2 64mA 6 w]

SAvE

A



=120 and 350 if.Vgs = 0.7 V.
[635V,3.6 V]

513 If Vg -—SVﬁ 250andVBE—O7V
detenmneR

[537 kQ]

AY

2kQ

pnp....enntter-blased c1rcu1t 1f ﬁ 120 a:nd
VBE =0.7-V.: -

[1 94 mA]

pke || | |1k

ISkQ'

1 o For the circuit shown determme VCE for
. Vee=0. 65 V.

51 4 Determme the ce]lector current for the o

7 _PR.O_BL'EMS- 137

5.15 Determine Ve 1f B = 150 and

[44 V]

] TN

21 i

6.8kQ 820 2

15 kQ 12kQ Ve

T _:L_:__

R

5. 16 Forthe circuit shown Ve=4YV.
Determine the value of Ry if ,8 200 and B

'-*.VBE_O"/V

[790 Q]

5.17 For Problem 5. 10 the nearest preferred

values fer the resmtors are:

R=33KQ,R,=56kQ,
R -BQOQandRC-ISk.Q

§ Use PSplee to observe the value of the

collector current for the two extremes of ,8
that is 120 and 320, Wlth Vcc: =12 V.

[2 19mA 233 mA]
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- 5.18 Use PSpice to verify the parameters m . [P5.7 V=495V and4.01 V] |
- Problems 5.3.5.7, 5.12and5.15. [P5.12 V=637 Vand 3.66 V]
" [P5.3 [,=2.18 mA, Vg =3.52V] [PS.15 Ve=411V]

R S Tl P SI rro, VR e vl e A e P T Erbief e T ol Ve i T sy




